im 6 B8 A 2
BB IRET =8B B

m o & AN HEXBH i ESEEE S
M @110 X M
BF @22 X zs
IN—FT—3Y @110 X zs
B k1) x%2) @550 X M
7’[19‘1’)9- 1) @550 X M
ROV =2 1) @330 X M
BN—TFUk D @1,100 X M

=} 5t !

(%1) SPIEREDT3EER
(%2) 1BEKES 3 BEMUEOERNITHEE

I8H SEEXRHE

1. EHEE s & B g B B8C B8

==
1%!%{%% EEM%(CLIX\%E% ~EDBK L/ @ﬂ?ﬂ’éuj“ZTEﬁJ‘l%
Le<rEEu,

[BEORIE « WK UL S ZDBREDOREICH U TERED
BBE URTNIERD FE A,

BGROERMRD O EEE, BRABIIRODICIRE USHE
DEREZZTTIES0,

5. BAFEH s & A B

6. & =
FEREOERDERINEULET,
B0 F A B
PRUNED
BEDREZ
BFKZ En




